style="text-align: center;"><strong><em><span style="font-size: 10pt; font-family: Arial; color:
black;">?7???</span></em></strong></div> <div style="text-align:
center;"><strong><em><span style="font-size: 10pt; font-family: Arial; color: black;"><br
/></span></em></strong></div> <p class="MsoNormal" style="margin: 9pt Ocm 15pt;

white; margin-left: 3.75pt; height: 58px;" border="1" cellspacing="0" cellpadding="0"
width="795"> <tr style="text-align: left;"> <td style="border: 1pt solid white; padding: 3.75pt;
background: white none repeat scroll 0% 0%; width: 238.9pt; text-align: left;" width="319"
valign="top"> <p class="MsoNormal" style="text-align: left;"><strong><em><span

</span></em></strong></p> </td> <td style="border: 1pt solid white; padding: 3.75pt;
background: white none repeat scroll 0% 0%:; width: 202.5pt; text-align: left;" width="270"
valign="top"> <p class="MsoNormal" style="text-align: right;"><strong><em><span

</span></em></strong></p> </td> </ir> <ir style="text-align: left;"> <td style="border: 1pt
solid white; padding: 3.75pt; background: white none repeat scroll 0% 0%; width: 441.4pt;

text-align: left;" colspan="2" width="589" valign="top"> <p class="MsoNormal" style="text-align:

center;"><strong><emx><span style="font-size: 10pt; font-family: Arial; color: black;">???. 33
</span></em></strong></p> </td> </ir> </table> <p class="MsoNormal" style="margin:
2.25pt Ocm 0.75pt; text-align: right;">@</p> <p style="margin: 2.25pt Ocm 0.75pt; text-align:

black;"><span style="font-size: 10pt; color: #810000; font-weight: normal; text-decoration:




none;"> </span></span></strong></p> <p style="margin: 0.75pt Ocm 7.5pt; text-align: justify;
text-indent: 37.5pt;">1. 2?2222 2 222227727 22222777 2 22?22 ?2727????22:</p> <p

style="margin: 0.75pt Ocm 7.5pt; text-align: justify; text-indent: 37.5pt;">"2. ??7?????77?7,
?7?7:</p> <p style="margin: 0.75pt Ocm 7.5pt; text-align: justify; text-indent: 37.5pt;">1)

2900?90 2990790079070 2997797009797 2?777777,</p> <p style="margin: 0.75pt Ocm 7.5pt;

292722272227 - 227222722 222722272 222272 2 722222222;,</p> <p style="margin: 0.75pt

text-indent: 37.5pt;">4) 27227 22722272227 2 227222722 222722272 722272 72227227 2

style="margin: 0.75pt Ocm 7.5pt; text-align: justify; text-indent: 37.5pt;">?? 2?7?77 ? 2?7?7777

style="margin: 0.75pt Ocm 7.5pt; text-align: justify; text-indent: 37.5pt;">2. ???7?77??7?7?
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R0 072?797 90?72?72 2 99?0?7277 29??72°7°7?7?7 ’7‘?’?’?’?’?‘?;</p> <p Sty|e="margin:

22999 222999272 229222292, 22 22922222922." <Jp> <p style="margin: 0.75pt Ocm 7.5pt;

<table class="MsoNormalTable" style="border: 1pt solid black; margin-left: 5.3pt;" border="1"
cellspacing="1" cellpadding="0"> <tr style="text-align: left;"> <td style="border: 1pt solid
black; padding: 3.75pt; background: white none repeat scroll 0% 0%; width: 110.6pt; text-align:
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none repeat scroll 0% 0%; width: 112.5pt; text-align: left;" width="150" valign="top"> <p
class="MsoNormal"><span style="font-size: 10pt; font-family: Arial;">1</span></p> </td> <td
style="border: 1pt solid black; padding: 3.75pt; background: white none repeat scroll 0% 0%;
width: 112.5pt; text-align: left;" width="150" valign="top"> <p class="MsoNormal"><span
style="font-size: 10pt; font-family: Arial;"> </span></p> </td> <td style="border: 1pt solid black;
padding: 3.75pt; background: white none repeat scroll 0% 0%; width: 112.5pt; text-align: left;"
width="150" valign="top"> <p class="MsoNormal"><span style="font-size: 10pt; font-family:
Arial;">1,2</span></p> </td> </tr> <tr style="text-align: left;"> <td style="border: 1pt solid
black; padding: 3.75pt; background: white none repeat scroll 0% 0%; width: 110.6pt; text-align:

black; padding: 3.75pt; background: white none repeat scroll 0% 0%; width: 112.5pt; text-align:
left;" width="150" valign="top"> <p class="MsoNormal"><span style="font-size: 10pt;
font-family: Arial;">1</span></p> </td> <td style="border: 1pt solid black; padding: 3.75pt;
background: white none repeat scroll 0% 0%; width: 112.5pt; text-align: left;" width="150"
valign="top"> <p class="MsoNormal"><span style="font-size: 10pt; font-family: Arial;">
</span></p> </td> <td style="border: 1pt solid black; padding: 3.75pt; background: white none
repeat scroll 0% 0%; width: 112.5pt; text-align: left;" width="150" valign="top"> <p
class="MsoNormal"><span style="font-size: 10pt; font-family: Arial;">1,2</span></p> </td>
</tr> </table> <p class="MsoNormal" style="margin: 0.75pt Ocm 7.5pt; text-align: justify;
text-indent: 37.5pt;"><span style="font-size: 10pt; font-family: Arial;"> </span></p> <p
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